i (13) (7 avy 7#EK)

IS (©
X)) ANHDF T Z7 RZHA Y(s): HADT T Z7 R =ERBE - G(s) =X
+ Y — _
&, G(s) &, Y(s) = G(s)X(s) X(s) A (52 Y(s) =X(s) — H(s)
e
(BFIEE)  GOXE)
X(s) ? Y(s) = G($)H(s)X(5) S P O e BR(ON
LIS B G S B (2
Es 2 aHs)
(s)
(FlEE)  GEXE)
X(s SN (O RO NORIIONO RN e WP (O p= SRS LS
LG _} = (G(s) — H(s)X(s) 2 (A 2
H(s)X(s)
i fEEns o) _ sy — Hs)
=~ H(s) . (s)




HfE (14)

(78 vy 78K OEMETHIEE)
1) ABX(G), EAY(s)E LT, 70y VBHOERICZET 2R EZE2TRO D, XTPLRICITRESTZEAND
2) Y(s) = * - X(s) DFICEET 5,

(7 A4 — I\\\/\\\\‘/ 7:\:5{5\)

X(s)

+‘

O——¢—»
i :

G(s)

o

* NER S NIcERSE 35,
G(){X(s) —H(s)Y(s)}

Y(s) _

X(sl) — H(s)Y(s)

H(s)

<

H (S)IY(S)

-

Y

X(s)

G(s)

1+ G(s)H(s)

()

@ M iR

Y(s)

—

Y(s) = G(s){X(s) — HS)Y ()} @D

D%, Y(s)=** - X(5)&RDETEFRT S
Y(s) =G(s)X(s) — G(s)H(s)Y(s)

Y(s)+ G(s)H(s)Y(s) = G(s)X(s)

Y(s){1+ G(s)H(s)} = G(s)X(s)

G(s)
1+ G(s)H(s)

mER

Y(s) =

X(s)



I (14498%) (7R v 7R OEFMERE)

ERl i) —{ G(s) = H(s) — —= G(s)H(s) —

— G(s) —
RS S il — G(s) + H(s) [—
= H(s)

+
G -
74 =Ky 7 n &) o G(s) I
e — 1+G(s)H(s)
H(s)

+ +
MR EhE S X1 (s) j—’ G(s) — X,(s) —=|{ G(s) —=0—
DI E s +
1) X,(5) —=] G() 4|
Sl EH L = G6) [ ¥i(s) — G(s) - Y,(s)
DI EN 1

- Y2(s) e [ Y,(s)




i (15) (78 v 7D FMmZERS])

A= G3{G{ G1(X — H{Y) — H,A} — H3Y'}

! Hy(s) [=
H A 1
Gi(X —HiY)| 2% G 0G(X — HyY) — HyA} — HsY |
X — H,Y ~ 2{ G4 ( 1Y) : A} 3 !
X + | o+ | | V(o) —
(s) —0——1 G1(s) —¢—>o—.—> G,(s) G3(s) ] G,(s) (s)= G4
B Gl(X_H1Y)—H2A
H.Y ! H3(s) [=—
Y |
1 ; Go{ G1 (X — HyY) — A} v
¢ Hl(S) - é
G4G3G,G,
{A G3{G,{ G;(X — HY) — HA} — HsY} @D O.&Y 1+ HyG3Gy + H3GAG3 + H1G4G3G,G,
Y = G4A .. @ """""""""""" ,f- é-i#géé-;;& ------------------------
—) X _ G4 (5)G3(5) G2 (5)G1(s) OR

(i 22 14 Hy(5)G3(5)G2(s) + Hs(5)G4(5)G3(s) + Hy(5)G4(5)G3(5)Go(5)G(s)




i (A58E) (7 A v 7 REOFMELEG] : BHIEE)

A ={G3{G,{ Gy(X — H,Y) — H,A} — H3Y'} } @ Y =G,A @

4 — §362G1X = H1G3G,G1Y — HyGsY

1+ H,G4G, -

D&Y A=G636,G.X —H{G3G,G,Y — Hy,G3G,A — H3G3Y

1+ H,G5G,

@Ic®@%EHRAN v =g,

(4G3G2G4

Y =

X




